

Evans-Workday adds-review before quiz

ID: 1

M118 - Unit 4 Worksheet 2

Name Key

Multiply and Divide Rational Expressions

Date _____ Period _____

Simplify each expression.

$$1) \frac{k+9}{(k-8)(k-7)} \cdot \frac{(k-7)(k+1)}{k+1} = \frac{k+9}{k-8}$$

$$2) \frac{p-2}{4p} \cdot \frac{3(p-10)}{3(p-2)} = \frac{p-10}{4p}$$

$$3) \frac{x+8}{x-3} \div \frac{10(x-1)}{(x-1)(x-3)} = \frac{x+8}{10}$$

$$4) \frac{8n(n+10)}{10} \cdot \frac{n+7}{8n(n+7)} = \frac{n+10}{10}$$

$$5) \frac{9(m+7)}{(m+4)(m+7)} \div \frac{9}{8(m+4)} = 8$$

$$6) \frac{6(r+7)}{2r} \cdot \frac{10}{10(r+7)} = \frac{3}{r}$$

$$7) \frac{8x^2}{x-4} \div \frac{8x^2}{16x^4} = \frac{16x^4}{x-4}$$

$$8) \frac{n+5}{10} \div \frac{n+6}{3n+18} = \frac{3(n+5)}{10}$$

$$9) (b+6) \cdot \frac{10b}{2b+12} = 5b$$

$$10) \frac{9v^2+15v}{8} \div \frac{9v^2+15v}{7} = \frac{7}{8}$$

$$11) \frac{x^2-15x+54}{x^2-14x+48} \div \frac{1}{x-8} = x-9$$

$$12) \frac{3x-9}{x-6} \div \frac{x^2-11x+24}{x-6} = \frac{3}{x-8}$$

$$13) \frac{a-4}{a^2-16} \cdot \frac{a^2+5a+4}{a-5} = \frac{a+1}{a-5}$$

$$14) \frac{k^2-6k-27}{k+1} \cdot \frac{k+1}{4} = \frac{(k+3)(k-9)}{4}$$

$$15) \frac{6p}{9p^3-36p^2} \cdot \frac{9p^2}{p+4} = \frac{6p}{(p-4)(p+4)}$$

$$16) \frac{9}{x^2+5x-36} (x-4) = \frac{9}{x+9}$$

$$17) \frac{6n+24}{14n-4} \div \frac{8n+32}{14n-4} = \frac{3}{4}$$

$$18) \frac{3n}{49n^2-25} \cdot \frac{49n^2-25}{9n-9} = \frac{n}{3(n-1)}$$

$$19) \frac{5x-9}{42x^3-48x^2} \div \frac{45x^2-81x}{7x^2+27x-40} = \frac{x+5}{54x^3}$$

$$20) \frac{7r^2+51r-40}{r^2-r-72} \div \frac{49r^2-21r-10}{7r+2} = \frac{1}{r-9}$$

~~$$\frac{(7r+8)(r-5)}{(r-9)(7r+2)}$$~~

$$(7x-5)(7x+2)$$

$$49x^2+14x-35x-10$$

$$21) \frac{4n^3 - 14n^2}{14n^3 - 8n^2} \div \frac{8n - 28}{28 - 49n} = -\frac{7}{4}$$

$$22) \frac{14b + 10}{7b + 5} \div \frac{3b^2 + 13b - 56}{48 - 18b} = \frac{-12}{b+7}$$

$$\frac{14b+10}{7b+5} \times \frac{48-18b}{3b^2+13b-56}$$

$$\frac{2(7b+5)}{7b+5} \times \frac{(3b-8)(24-9b)}{(3b-8)(b+7)} = \frac{-12}{b+7}$$

$$3b^2 + 21b - 8b - 56 = 3b(b+7) - 8(b+7)$$

-168
 42, 4
 28, 4
 7, 24
 8, 21

$$23) \frac{(x+3)(x+1)}{(x+5)(x+2)} \div \frac{(x+3)}{(x+2)} \cdot \frac{(x+5)}{(x+1)} = 1$$

$$24) (x^3 + 125) \div (x+5) = x^2 + 5x + 25$$

—

11

11